
John Deere 9976-CP770 Upper Cabinet
20-13

www.certipik.com                                           Certi-Pik, USA                                        Litho in USA 2024



Item Part OEMPart DescQty

John Deere 9976-CP770 Upper Cabinet 20-13

COVER - REAR L-SIDEAN276610766101 3

CLAMP - COVERN371404714042 AR

BOLT  - M6 X 10 - SMOOTH HEX FLANGE19M786107861P3 AR

NUT - M6 - SERR HEX FLANGEE6352463524P4 AR

COVER - MID L-SIDEAN275038750385 1

COVER - FRONT L-SIDEAN275037750376 1

LOCK - DUAL LOCK FASTENER (ALL IN-LINE & PRO)AN27252072520P7 AR

COVER - MID R-SIDEAN276611766118 1

COVER - BACK R-SIDEAN275036750369 1

PANEL - CABINET TOP (9976,9986,9996)N2723667236610.1 1

PANEL - CABINET TOP (BALER 7760-CP770) (REPLACES # N379369) (ILL.)KK143951439510.2 1

HOOD - FRONT CABINET (REPLACES AN273840)AN2766137661311 1

BOLT  - M10 X 20 - SMOOTH HEX FLANGE - GD 10.919M778407784P12 AR

NUT - M10 - SERR HEX FLANGEE6352663526P13 AR

PRO 16 CABINET TOP (9976-9996)AN2737667376614.1 1

PRO 16 CABINET TOP (7760 BALER) 3-3/4" DOFFER HOUSING HOLE (ILL.)AN3729077290714.2 1

PRO 16 CABINET TOP (CP690 BALER) 4-1/2" DOFFER HSG HOLE - FINE ADJ.AKK148231482314.3 1

ANGLE - IDLER SUPPORT ON PRO CABINET TOP (9970-7760)N2750537505315 2

ANGLE - LEG ON PRO CABINET TOP (9970-CP770)N2760597605916 1

PANEL - FRONT R-SIDE CABINET (9976-CP690)N3716067160617 1

ANGLE - FRONT R-SIDE CABINETN2724057240518 1

PANEL - REAR R-SIDE CABINET (9976-CP690)N2788337883319 1

CHANNEL - REAR CABINET (9976-7760) (ILL.)N2765067650620.1 1

CHANNEL - REAR CABINET (CP690-CP770)N4067660676620.2 1

CHANNEL - OUTER ROLLER SUPPORT (9976-9986)N2733517335121.1 1

CHANNEL - OUTER ROLLER SUPPORT (9976-CP690) (REPLACES # N273351) (ILL.)N3789897898921.2 1

PANEL - REAR CABINET (REPLACES N273349) (9976-CP770)N3717977179722 1

BRACKET - OIL AND GREASE LINES (9976-CP690)N3721577215723 1

BRACKET - SENSOR (9976-9996)N2733027330224.1 2

BRACKET - SENSOR (7760-CP690)N3787767877624.2 2

SUPPORT - REAR CABINETAN2747647476425 1

REINFORCEMENT - MID CABINET (9976-CP770) REP #N272377 & N375825KK141091410926 1

SUPPORT - MID CABINET (9976-CP770) REPLACES #N275344 & N374565KK141121411227 1

CLAMPN2771197711928 AR

PANEL - FRONT MID CABINETN2750657506529 1

SHEET - INNER CABINETAN2768197681930 1

SCREW  - M10 X 20 - SERR HEX FLANGE - THREAD FORMING (USE #75620P)37M708607086P31 NA

BOLT  - M10 X 25 - SERR HEX FLANGEN27562575625P32 AR

BOLT  - M10 X 20 - SERR HEX FLANGE - GD 8 - NOT THREAD FORMINGN27562075620P33 AR

BOLT  - M10 X 45 - SMOOTH HEX FLANGE19M780507805P34 AR

CHANNEL - HANGER ADAPTERN3712017120135 1

HANGER ASSEMBLY - L.H. - PROAN2741747417436 1

HANGER ASSEMBLY - R.H. - PROAN2731707317037 1

BEARING - 23 NEEDLESJD880408804P38 2

ROLLER - REAR PRO CABINET GUIDEN2727327273239 1

WRENCH - PICKING UNIT ADJUSTMENTN1981409814040 1

COVER, FRONT 16 BAR DRUM, PRO SERIESAN2736867368641 1

www.certipik.com                                           Certi-Pik, USA                                        Litho in USA 2024



John Deere 9976-CP770 Upper Cabinet
20-13

www.certipik.com                                           Certi-Pik, USA                                        Litho in USA 2024



Item Part OEMPart DescQty

John Deere 9976-CP770 Upper Cabinet 20-13

COVER, 12 BAR DRUM, PRO SERIESN2751317513142 1

MANIOLD - ALUMINUM - LUBE AND WATER SYSTEM - PRO MACHINESN3718207182043 1

ORIFICE - LUBE MANIOLD - BRASSH1184001840044 1

PLUG - SQUARE PLASTIC - CABINET TOP DOFFER IDLER GEAR ADJUSTMENTN27831178311P45 1

www.certipik.com                                           Certi-Pik, USA                                        Litho in USA 2024


